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Study the example showing how to find the surface area
of a rectangular prism. Then solve problems 1-8.

Example

Kanene wants to know how much wrapping
paper she needs to cover this box. How much

wrapping paper does she need? o Sin.

You can use a net to help you solve the problem.

10in.

4in. 10in.

5in.

Face | Length (in.) |Width (in.) |Area (sqin.)
Top 10 5 50
Bottom 10 5 50
Front 10 4 40
Back 10 4 40
Right side 5 4 20
Left side 5 4 20

I3 B3 Which pairs of faces have the same areas?
top and bottom, front and back, right side and left side

3> B Whatis the surface area of the box? Use your answer
to problem 2 to write an equation.

220 square inches; 2(50) + 2(40) + 2(20) = 100 + 80 + 40 = 220

3> [ What is the relationship between the surface area of a
rectangular prism and the area of each face?

The surface area is the sum of the areas of the six faces.
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Solve.

[N7® B Carl drew this net for a wooden shed that he will build. 3ft
He wants to protect the wood against the weather by st
using a sealant on all of the outside surfaces, including 5ft
the bottom. Will a container of sealant that covers

200 square feet be enough to protect the outside surfaces?

10ft
Show your work.
Possible work:
(10)(5) = 50 3ft
(10)(3) = 30
(3)(5) =15
2(50) + 2(30) + 2(15) = 100 + 60 + 30 = 190
The surface area of the shed is 190 square feet, which is less than 200 square feet.

Solution:_Yes: the container of sealant will be enough to protect the wood.

7™ @ susana is making a small box. The 20-cm by 20-cm

front of the box will be glass. The other faces will be

wood. How much wood does Susana need to make 20cm

the box?

Show your work. 12cm
20cm

Possible work:
(20)(20) = 400
(12)(20) = 240
400 + 4(240) = 1,360

Solution: Susana needs 1,360 square centimeters of wood.

[ EA The surface area of a cube is 216 square meters. What
is the height of the cube? Explain.

6 meters; Possible explanation: The area of each face is 216 + 6 = 36 sq m. Each face is a

square, so its side lengths are equal. The height of the cube is 6 m because 6(6) = 36.

[P @ [ Mike says that if he doubles each dimension of any
rectangular prism, the surface area also doubles. Is
Mike correct? Give an example to support your answer.

No; Possible explanation: The surface area of a 2-ft by 3-ft by 4-ft rectangular prism is

52 sq ft. The surface area of a 4-ft by 6-ft by 8-ft rectangular prism is 208 sq ft. When

you multiply 52 by 2, you get 104, which is half of 208. So doubling the dimensions of a

rectangular prism will not double its surface area. It will quadruple it.
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